1. Two trains start moving towards each other at
a distance of 2000 metres. The first train moves
at a speed of 20m/s and the second at a speed
of 30m/s. After how many seconds do they meet
each other?

2000 HicY &1 33 W &l 4 TH-gW Bt 3R deA
o

RG] %I Jg i 20m/s q 3R .
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(A) 40

(B) 45

(C) 35

(D) 50




2. What is "Parakar (Compass)" used to make?
"IRGR (HHTH)" BT IUART T I & AT DA § ?
(A) Triangle / Y

(B) Rectangle / 3TUd

(C) Circle / 9

(D) straight line / O ¥l




3. On equal terms, a black surface absorbs more
than a white surface.

U Il 0, ﬁ%m?ﬁ Tdg qWq Tdg D gadl
H Sa=Nyd SRl 3 |

(A) low heat / PH HTHI

(B) negligible heat / 709 3]

(C) more heat / 3ffere ST

(D) uniform heat / HIH SHtHI




4. Ildentify the material which has the least

coefficient of linear expansion.

39 Il o1 UgaH &, O9H ¥ @9 TR &I
VNP Gad FH AT S |

(A) Copper / <TdT

(B) Brass / Uldd

(C) Lead / T

(D) Iron / TR




5. If we compare the effort arm length with the load arm
length in class 2 lever, which of the following is correct?
(A) Effort arm length will always be > load arm length.
(B) Effort arm length will always be < load arm length.

(C) The effort arm length can be greater than, less than,
or equal to the load arm length.

(D) Effort arm length will always be = load arm length.

gfe g4 mzsﬂ?ﬂﬁ@ﬁfaﬂﬁ@ruﬁm@gaﬂﬁﬁu
ﬁm;ﬁg}nmanﬁgiﬁﬁ; o EﬁTﬂ

(A) | I} |

(B) BHIIT UG 3ITH dY TS UIARTH AY BT |
g)mgnﬁﬁa?hsanﬁﬁuﬁarwwmmw
gbdl

(D) THII THC¢ 3MH &Y IS 3MH Y I |




6. Two resistors 10Q and 15Q are connected in
parallel. This combination is connected in series
with 24Q resistor and 12V battery. What will be
the current in the 152 resistor?

3l ufaiue) 100 3R 150 &I JHIAR

SiIST SITdT 31 39 HaleH 240 aﬁ aﬁ?
1zvaz'€r%¥m: (@ﬂ'\ﬂmﬁmﬁmmél
150 ITd UFRIY® | YRT Bt BIIT 2

(A) 0.12 A

(B) 0.40 A

(C) 0.16 A

(D) 0.24 A




7. Which type of pencil lead contains the
hardest graphite?

f5g ypR @1 4 9d & ofis A I HoR ABISC
gIdT 82
(A) HB
(B) 9H
(C) 2H
(D) 3H




8. In class 2 lever, in which direction does the
effort and weight go?

(A) same direction

(B) Rotation depends on the load.

(C) vertical direction

(D) opposite direction

T 2 iz |, Ud 3R YR fhg fexm A wrd 8 2
(A) THT fe=m

(B) YHTd HR W AR a1 3 |

(C) dddd

(D) faudia fa=m




9. An object starts from rest at x = Om and t = Os

and rotates with a constant acceleration of 3m/s?

about the x-axis. What is its average velocity over

the period of time between 2s and 4s?

BIg d¥d U aRTH x = Om 3R t = 0s A IAT =

Bt § 3N x 3H& & U 3m/s? & Fgd @axor & A1y

E%?_\qil{'l?ﬁ%l Y 25 3R 45 & dI9 DI 3d Y & FHDI
AT RTG?

(A) 6 m/s

(B) 3 m/s

(C) 12 m/s

(D) 9 m/s




10. If we double the length of a copper wire, its
resistance will increase by times.

(A) Three

(B) One

(C) Four

(D) Two

gfe g9 Pl did & dR P! F1S DI ST B B,
Ot S9PT UfaRIY- AT §¢ ST |

(A) 9

(B) Y

(C) dIR

(D) &t




11. Which of the following is correct for first-angle
projection?

(A) The plane of projection lies between the object
and the observer.

(B) The object is located in the third quadrant.

(C) The object lies between the observer and the
plane of projection.

(D) The object is located in the fourth quadrant.

UYH-PHI0 &Y & ¢ (Haferied Td 4 & 11 981 ¢ ?
(A) HEITUT BT T a3 3R Nerd & dig RAT grar ¢ |
e e e s SR

(C) &P &MUl & dd I
(D)g%;ﬁﬂa‘g'ufﬂﬁ@mém?ﬂ




12. By what is the specific heat capacity of a
substance determined?

4l Uerd o1 9 P ST &HAT B FOH gRT a4
HYT ST 8 ?

(A) (1/m) (A0/AT)

(B) m (AO/AT)

(C) m (AT/AQ)

(D) (1/m)(AT/AQ)




13. A pair of pliers and scissors are considered as
class 1 levers.

TR 3R Helt B TP et B FAN 1 dlaR b =Y
H HET STar B

(A) Simple / 99d

(B) Single / Hd

(C) Triple /

(D) Double / Sdd




14. How much power will be in a 5-ohm resistor
with a current of 2A?

2A YRT dTet 5-ohm UfARIY® H Hd-t Ifad (UTav)
ghfi?

(A) 20 W

(B) 0.6 W

(C) 2.5 W

(D) 10 W




15. How much heat must be transferred to 100g
of edible oil to raise its temperature by 20°C?
(specific heat of oil 1965Jkg-k")

fodt 1009 WTeI A H ST TR Pl
SITE DI SHPBT ATTHT 20°C ¢ SITE ? (dd Bl 9 P
ST 1965Jkg k)

(A) 2.70KJ

(B) 1.32KJ

(C) 4.31KJ

(D) 3.93KJ
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